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Ssc Cgl Tier | Previous Year Question Paper
Overview

Here, you can solve all the questions asked in Ssc Cgl Tier | Previous Year Question Paper on 2022-04-12 in the
Afternoon exam. The detailed solutions are also provided for every previous year question and some of these questions
can be asked again in your Ssc Cgl Tier | exam. There are 100 questions in the exam and 60 minutes are provided for the
Ssc Cgl Tier | exam. The Cutoff of the exam was 140 marks hence you should try to score at least 150 marks.

Ssc Cqgl Tier | Previous Year Question Paper :
Questions and Solutions

Question 1:
Which of the following elements is NOT suitable for the fabrication of a light-emitting diode structure?

Difficulty : Moderate Average Time: 43 Seconds

Options :
1. Gallium phosphide

2. Indium gallium nitride

3. Germanium

4. Gallium arsenide
Solution :
The correct answer is option 3 i.e. Germanium.
Other Information-

e Germanium is not used for manufacturing the light-emitting diode structure.

e Light emitting diode (LED) is a semiconductor device that emits light when an electric current is passed through it.

o What differentiates this lighting technique from other sources is those that use heated filaments (incandescent and
tungsten halogen lamps) or gas discharge (fluorescent lamps).

¢ Very little voltage and current are enough to drive the LED. Voltage range — 1 to 2 volts, Current — &€«4€<5 to 20
milliamperes.

Question 2 :
Which of the following is a characteristic of permanent tissue?
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Difficulty : Moderate
Average Time: 55 Seconds

Options :
1. Cells divide repeatedly

2. Inorganic inclusions are absent
3. Intercellular spaces are present
4. Vacuoles are absent
Solution :
The correct answer is option 3 i.e. Intercellular spaces are present.

Other Information-

Permanent tissue is present in the intercellular space.

The cells of permanent tissue usually do not divide much.

The permanent tissues from which the cell is made up, often their functions are not the same, they are called
simple tissues such as parenchyma, collenchyma, and sclerenchyma.

Permanent tissues containing different types of cells are called complex tissues such as the xylem, and phloem.
The process of permanent shape, size and function for permanent tissue formation is differentiation.

Question 3 :
Select the most appropriate option to fill in the blank. Are you looking forward Nikhil again?

Difficulty : Moderate Average Time: 63 Seconds

Options :
1. seeing

2. to see
3. to be seeing
4. to seeing
Solution :
The correct answer is option 4 i.e. to seeing.
The most appropriate word for the filler is 'to seeing' which means to await something eagerly.

Question 4 :
In a certain code language, ‘TANKER’ is written as ‘VCPMGT’, how will ‘'SOCRATES’ be written in that language?
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Difficulty : Moderate
Average Time: 40 Seconds

Options :
1. UQETCVGU

2. UQETCWGU
3. UQFTCVHU
4. UQGTCVHU
Solution :
The correct answer is Option 1 i.e. UQETCVGU
The logic used here is:
‘TANKER' is written as ‘VCPMGT’
T+2=V
A+2=C
N+2=P
K+2=M
E+2=G
R+2=T
Similarly,
Code for the word SOCRATES:
S+2=U
O0+2=Q
C+2=E
R+2=T
A+2=C
T+2=V
E+2=G

S+2=U
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Hence,Option 1 is the correct answer.

Question 5:

Which of the following Sustainable Development Goals (SDG) seeks to ‘Protect, restore and promote sustainable use of
terrestrial ecosystems, sustainably manage forests, combat desertification, and halt and reverse land degradation and halt
biodiversity loss’?

Difficulty : Moderate Average Time: 63 Seconds

Options :
1. SDG 12

2. SDG 7
3. SDG 17

4. SDG 15

Solution :
The correct answer is option 4 i.e. SDG 15.

Other Information-

e Sustainable Development Goals (SDG) 15 seeks to ‘Protect, restore and promote sustainable use of terrestrial
ecosystems, sustainably manage forests, combat desertification, and halt and reverse land degradation and halt
biodiversity loss’.

e The Sustainable Development Goals (SDGs) are a collection of 17 global goals designed to be "the
framework for achieving a better and more sustainable future for all! SDGs set by the United Nations
General Assembly in 2015 and to be achieved by 2030". United Nations Resolution 70/1, is part of the 2030
Agenda.

e The global goals of the Sustainable Development Goals (SDGs) include ending poverty, protecting the
environment, reducing economic inequality and ensuring peace and justice for all.

e Need for Sustainable Development Goals (SDG) 17 To help people visualize goals and make them more
manageable and remote, sustainable development can be achieved! People can be led to progress
toward sustainable development!

Question 6 :
In which of the following years was an Act to provide for the reorganisation of the states of India and for matters connected
therewith enacted?

Difficulty : Moderate Average Time: 78 Seconds

Options :
Page No: 4

Follow us on Address :1997, Mukherjee Nagar, 110009 Download the App

Email : online@kdcampus.org | GETITON
f < o
- Call : +91 95551 08888 P Google Play



https://study.kdcampus.live/question-answer/-14325
https://study.kdcampus.live/

STUDY CONTENTS THAT GET YOU SELECTED FREE

N
L ' VE @ 5LAKH+ STUDENTS %, 30+ EXPERT INSTRUCTORS 10000+ HOURS OF VIDEOS
- Already enrolled with our ;‘{ Our instructors are the best -‘ All videos are well-explained for you P D F

selection focused courses. In the industry to get every bit out olﬁthe videos

1947
2. 1956
3. 1959

4. 1962

Solution :
The correct answer is option 2 i.e. 1956

Other Information -

e An Act was enacted in 1956 to organize the reorganization of the states of India and the matters connected
therewith.

Under the States Reorganization Act, 1956, the boundaries for the states within the Union of India were defined on
a linguistic basis.

Under this act, Bombay State was formed for Marathi, Gujarati, Kutchi and Konkani-speaking people.

On the basis of the commission's report, 14 states and 6 union territories were formed on a linguistic basis by the
State Reorganization Act passed in the year 1956.

Its effect - By doing the work of reorganization of the states on a linguistic basis, the national leadership put an end
to the question posed in front of national unity, which could possibly promote disruptive tendencies.

Question 7 :
What was the age of the revolutionary Bhagat Singh when he was hanged to death?

Difficulty : Moderate Average Time: 68 Seconds

Options :
1. 20

2. 23

3. 30

4. 26
Solution :
The correct answer is option 2 i.e. 23.
Other Information-

e Revolutionary Bhagat Singh was 23 years old when he was sentenced to death.
e In 1919, at the age of 12, Bhagat Singh visited the site of the Jallianwala Bagh massacre where thousands of
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unarmed people were killed during a public meeting.

¢ In the year 1928, Bhagat Singh changed the name of the Hindustan Republican Association to Hindustan Socialist
Republic Association (HSRA).

e Bhagat Singh and Batukeshwar Dutt threw a bomb in the Central Legislative Assembly on April 8, 1929, to protest
the passage of two repressive bills - the Public Safety Bill and the Trade Disputes Bill.

Question 8 :
In a certain code language, 'so it be' is written as 'lor kor nor', 'it is done' is written as ‘zor kor tor', and 'be yourself' is
written as 'nor xor'. How will 'so’ be written in that language?

Difficulty : Moderate Average Time: 64 Seconds

Options :
1. nor

2. xor

3. lor

4. kor
Solution :
The correct answer is Option 3 i.e. lor
The logic used here is:
'so it be' is written as 'lor kor nor', ‘it is done' is written as ‘zor kor tor', and 'be yourself' is written as 'nor xor'
Code for the word so = lor
Code for the word be = nor
Code for the word it = kor
Hence, the code for the word so = lor
Hence, Option 3 is the correct answer.

Question 9:
Which of the option figures when rotated 270° anticlockwise and then 45° clockwise will result in the given question figure?

Difficulty : Moderate Average Time: 53 Seconds

Options :
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Solution :

The correct answer is Option 1

The figure is first rotated by 270° in the anticlockwise direction and then 45° in the clockwise direction. So, the figure is to
be rotated by 270° - 45° = 225° in the anticlockwise direction.

Hence, Option 1 is the correct answer.

Question 10:

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if
it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow from the
statements. Statements: 1. All flowers are blue. 2. All blue are good. 3. No good is red. Conclusions: I. No red is a flower.
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II. No red is blue. Ill. Some good is flowers. IV. Some good are blue.

Difficulty : Moderate Average Time: 94 Seconds

Options :
1. Only conclusions I, Ill and IV follow

2. Only conclusions | and IlI follow
3. All conclusions I, Il, lll, and 1V follow
4. Only conclusions I, Il and IV follow
Solution :
The correct answer is Option 3 i.e. All conclusions |, Il, Ill, and IV follow

The least possible Venn Diagram for the given statements is drawn below:

Conclusions:
I. No red is a flower True (As all flowers are good, and no good is red, so no red is a flower)
II. No red is a blue True (As all blue is good, and no good is red, so, no red is blue.)

[ll. Some good are flowers True (As all flowers are blue, and all blue are good, so all flowers are good, so some good are
flowers.)

I\V. Some good are blue True (As all flowers are blue, and all blue are good, some good are also blue.)
Hence, All conclusions |, Il, lll, and IV follow.

Question 11 :
Select the correct combination of mathematical signs that can sequentially replace the * signs and make the given
equation correct. 88 * 120 * 42 * 240 * 48 * 2
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Difficulty : Moderate
Average Time: 87 Seconds

Options :
1 :1 X, +1 .
2 X, ) :1 ) +
3 +1 e X
4 =! ) +| +y X
Solution :
The correct answer is Option 4 i.e. =, —, +, +, x

Given equation: 88 * 120 * 42 * 240 * 48 * 2
Let us check all the options:
Option 1: =, x, +, +, —

The expression becomes:
=88=120x42+240+48-2
= 5043 is not equal to 88.
Option 2: x, +, =, —, +

The expression becomes:
=88x120+42=240-48+2
= 251.42 is not equal to 194.
Option 3: +, =, —, =, X

The expression becomes:
=88+ 120+ 42-240=48 x 2
=-149.14 is not equal to 96.
Option 4; =, —, +, +, x

The expression becomes:
=88=120-42+240+ 48 x 2

= 88 is equal to 88.
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Hence,Option 4 is the correct answer.

Question 12 :
Select the set of classes and the relationship among which is best illustrated in the given Venn diagram.

Difficulty : Moderate Average Time: 70 Seconds

Options :
1. Potato, Peach, Vegetables

2. Natural numbers, Integers, Real numbers
3. Doctors, Singers, Extroverts
4. Peso, Currency, Taka
Solution :
The correct answer is Option 4 i.e. Peso, Currency, Taka

The possible Venn diagram is:

All Pesos and Taka are currency.
Hence, the diagram given above shows the best relationship between them.

Question 13:

FREE
PDF

As of April 2021, who among the following is the only Indian long jumper to have qualified for the Tokyo Olympics 20217

Difficulty : Moderate Average Time: 49 Seconds

Options :
1. Virsa Singh

2. TC Yohannan

3. Sreeshankar Murali
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Sanjay Kumar Rai

Solution :
The correct answer is option 3 i.e. Sreeshankar Murali.

Other Information-

As of April 2021, Sreeshankar Murali is the only Indian long jumper to qualify for Tokyo Olympics 2021.
Murali Sreeshankar is an Indian athlete known for his long jump events.

Prior to Murali Sreeshar, women's former athlete Anju Bobby won bronze in the long jump at the 2002
Commonwealth Games and Prajusha won a silver in the 2010 Commonwealth Games.

The '‘Mahakumbh' of the Games Olympics is held every four years.

Question 14 :
Select the correct option that indicates the arrangement of the given words in a logical and meaningful order. 1. Chapter
list 2. Bibliography 3. Preface 4. Cover page 5. Chapters

Difficulty : Moderate Average Time: 59 Seconds

Options :
1.2,51,4,3

2.4,3,1,5,2
3.4,53,1,2
4, 3,5/4,2,1
Solution :
The correct answer is Option 2i.e. 4,3,1,5,2

In this question, you need to arrange the words in a logical and meaningful order. So, the arrangement is according to their
position in a book.

4. Cover page

3. Preface

1. Chapter list

5. Chapters

2. Bibliography

Hence, Option 2 is the correct answer.
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Question 15 :
Select the number from among the given options that can replace the question mark (?) in the following series. 82, 105,
136, 177, 224, 283, ?

Difficulty : Moderate Average Time: 46 Seconds

Options :
1. 412

2. 320

3. 350

4. 349
Solution :
The correct answer is Option 3 i.e. 350
Given series: 82, 105, 136, 177, 224, 283,?

The series follows this pattern:

82 +23=105

105+ 31 =136
136 + 41 =177
177 + 47 = 224
224 + 59 = 283
283 + 67 =350

So, the next term in the series is 350.

Question 16 :
Study the given pattern carefully and select the number from among the given options that can replace the question mark
(?)init. 1824197898111417 7?14

Difficulty : Moderate Average Time: 42 Seconds
Options :
1. 15
2. 21
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38

4. 30
Solution :
The correct answer is Option 2 i.e. 21
The logic used here is:
Column 1:18+7-8=25-8=17
Column 3:19+9-14=28-14=14
Column2:24+8-11=32-11=21
Hence, Option 2 is the correct answer.

Question 17 :
Which two signs need to be interchanged to make the following equation correct? 23 + 84 + 14 x8 3 =5

Difficulty : Moderate Average Time: 40 Seconds

Options :
1. +and

2. +and x

3. and x

4. and +
Solution :
The correct answer is Option 3i.e. and x
Given equation: 23+84 +14x8 3=5
Let us check all the options:
Option 1: + and
The expression becomes:
=23+84-14x8+3=5
= 69.66 is not equal to 5.

Option 2: + and x
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The expression becomes:

=23x84+14+8 3=5

=143 is not equal to 5.

Option 3: and x

The expression becomes:

=23+84+14-8%x3=5

=5is equal to 5.

As we have found our answer, we need not check the other options.
Hence, Option 3 is the correct answer.

Question 18:

Select the letter cluster from among the given options that can replace the question mark (?) in the following series. FCC,
UFH, OIS, LLX, FOC,?

Difficulty : Moderate Average Time: 67 Seconds

Options :
1. TRF

2. VSG
3. URH
4. WTH
Solution :
The correct answer is Option 3 i.e. URH
Given series: FCC, UFH, OIS, LLX, FOC,?
The series follows this pattern:
FCC, UFH
Opposite of F=U
C+3=F

C+5=H
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Similarly;

FOC, ?

Opposite of F=U

O+3=R

C+5=H

So, the next term in the series is URH.

Question 19:
Select the correct mirror image of the given figure when the mirror is placed at ‘AB' as shown.

Difficulty : Moderate Average Time: 51 Seconds

Options :

Solution :
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The correct answer isOption 2

The mirror image of the question figure is shown below:

Since the mirror is placed right to the question figure, the right-hand side of the original image will be now the left-hand
side of the mirror image.

Hence, Option 2 is the correct answer.

Question 20 :

Seven friends, Subhi, Prince, Ketan, Vishal, Mahima, Krish, and Naitik, are sitting around a circular table with their backs
towards the center. Subhi is sitting to the immediate right of Prince. Naitik and Krish are not sitting to the immediate left or
right of Vishal. Vishal is sitting third to the left of Prince. Mahima is sitting to the immediate right of Vishal. Who is sitting
third to the right of Prince?

Difficulty : Moderate Average Time: 86 Seconds

Options :
1. Naitik

2. Krish
3. Ketan

4. Mahima

Solution :
The correct answer is Option 3 i.e. Ketan
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According to the question, the arrangement is as follows:

From the above arrangement, Ketan is sitting third to the right of Prince.
Hence, Option 3 is the correct answer.

Question 21 :
There are seven members, B, C, D, E, F, G, and H, in a family. H is the only daughter-in-law of D. E is the sister of C. C is
the only son of F, who is the wife of D. B and G are the sons of H. How is G related to F?

Difficulty : Moderate Average Time: 58 Seconds

Options :
1. Grandson

2. Brother

3. Father

4. Son
Solution :
The correct answer is Option 1 i.e. Grandson
In the diagram shown;

The square shows males, the circle shows females, vertical lines show generations, a single horizontal line shows brothers
or sisters, and double lines show a couple.
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From the above figure, G is the grandson of F.
Hence, Option 1 is the correct answer.

Question 22 :

Among five boxes A, B, C, D, and E; B is thrice as heavy as A. C is 40 kg heavier than E. D is three and a half times as
heavy as E and C is five times as heavy as A. The weight of E is 40 kg. Which object is the lightest of all and what is its
weight?

Difficulty : Moderate Average Time: 64 Seconds

Options :
1. B50kg

2. A16Kkg
3. B12kg
4. D 125 kg
Solution :
The correct answer is Option 2 i.e. A 16 kg

According to the question;

B=3A
C=40+E
D =3.5E
C=5A
E =40 kg
So,
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C=40+40=80kg

D = 3.5 (40) = 140 kg

From C = 5A

80 =5A

A =16 kg

Now B = 3A

B = 3(16) = 48 kg

So, object A is the lightest and its weight is 16 kg.
Hence, Option 2 is the correct answer.

Question 23:
Select the options figure that is embedded in the given figure X. (Rotation NOT allowed)

Difficulty : Moderate Average Time: 55 Seconds

Options :

1.

Solution :

The correct answer is Option 2

The figure in option 2 is embedded in the given figure, as shown below:
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Hence, Option 2 is the correct answer.

Question 24 :

to get every bit out o the videos

Select the combination of letters that when sequentially placed in the blanks of the given series will complete the series. |

mb_a__u_b_adj_m_b_d

Difficulty : Moderate

Options :
l.ubmjmbuba

2.ubdjmbjba
3.ubdjmbuba
4. ubdjmbuma
Solution :
The correct answer is Option 3i.e.ubdjmbuba

The sequenceis— ubdjmbuba

Givensequence:j_mb_a__u_b_adj_m_b_d

Option l:ubmjmbuba
jumbbamjumbbadjumbbad
Option 1 does not form a particular pattern.
Option 2:ubdjmbjba
jumbbadjumbbadjjmbbad
Option 2 does not form a particular pattern.
Option3:ubdjmbuba
jumbbad/jumbbad/jumbbad

Option 3 forms a particular pattern.

Average Time: 69 Seconds
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Hence,Option 3 is the correct answer.

Question 25 ;
Select the number from among the given options that can replace the question mark (?) in the following series. 28, 32, 41,
57,?

Difficulty : Moderate Average Time: 107 Seconds

Options :
1. 68

2. 82
3. 74
4. 90
Solution :
The correct answer is Option 2 i.e. 82
Given series: 28, 32, 41, 57,?
The series follows this pattern:
28+4=32
32+9=41
41 +16 =57
57 +25=82
So, the next term in the series is 82.

Question 26 :
Select the option that is related to the third number in the same way as the second number is related to the first number
and the sixth number is related to the fifth number. 3 : 17 ::6:?::9: 47

Difficulty : Moderate Average Time: 44 Seconds
Options :
1. 34
2. 36
3. 38
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32
Solution :
The correct answer is Option 4 i.e. 32
The logic used here is:
3:17
(3x5)+2=15+2=17
9:47
(9%x5)+2=45+2=47
Similarly,
6:7?
(6x5)+2=30+2=32
Hence, Option 4 is the correct answer.

Question 27 :
Select the option that is related to the third term in the same way as the second term is related to the first term. UPRIGHT :
PUVEKTH :: DESTROY : ?

Difficulty : Moderate Average Time: 43 Seconds

Options :
1. EDWPVYO

2. EDPXNYO

3. EDWWUY

4. DEWPVOY
Solution :
The correct answer is Option 1 i.e. EDWPVYO
The logic used here is:

UPRIGHT : PUVEKTH
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Similarly,

DESTROY : ?

Hence, Option 1 is the correct answer.

Question 28 :
A cube of side 80 cm is painted yellow on all the faces and then cut into smaller cubes of sides 8 cm each. Find the
number of smaller cubes having all three faces painted.

Difficulty : Moderate Average Time: 55 Seconds

Options :
1. 32

2. 28
3.8
4. 64
Solution :
The correct answer is Option 3 i.e. 8

If a cube is painted any color on all the sides, then the number of small cubes having all three faces painted will be 8
because there are 8 corners in the cube.

Hence, Option 3 is the correct answer.

Question 29 :
Four letter clusters have been given, of which three are alike and one is different. Select the letter cluster that is different.

Difficulty : Moderate Average Time: 43 Seconds
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Options :
1. MTAH

2. CJQY
3. HOVC
4. DKRY
Solution :
The correct answer is Option 2 i.e. CJQY
The logic used here is:
1st letter + 7 = 2nd letter
2nd letter + 7 = 3rd letter
3rd letter + 7 = 4th letter

Option 1: MTAH

M+7=T
T+7=A
A+7=H

This follows the logic.

Option 2: CJQY

C+7=J
J+7=Q
Q+7=Y

This does not follow the logic.
Hence, Option 2 is the odd one out.

Question 30 :
Select the figure from among the given options that can replace the question mark (?) in the following series.

Difficulty : Moderate Average Time: 56 Seconds

Options :
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Solution :

The correct answer is Option 3

The logic used here is:
1. The middle arrow rotates in the anticlockwise direction.

2. The heart and the rhombus rotate in the anticlockwise direction from corner to corner in the square and they rotate
themselves in the anticlockwise direction in their new position.

The series of figures:

Question 31 :
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The sequence of folding a piece of paper (Figure i) and the manner in which the folded paper has been cut (Figure ii) are
shown in the following figures. How would this paper look when unfolded form of figures ii.

Difficulty : Moderate Average Time: 79 Seconds

Options :

Solution :

The correct answer is Option 2

After unfolding, the paper will appear as follows:

Hence, Option 2 is the correct answer.

Question 32 :
In a certain code language, ‘PARK’ is coded as ‘3749’, and ‘RACE’ is coded as ‘4762’. How will ‘CARE’ be coded in that
language?
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Difficulty : Moderate
Average Time: 68 Seconds

Options :
1. 6724

2. 7642

3. 7624

4. 6742
Solution :
The correct answer is Option 4 i.e. 6742
The logic used here is:

‘PARK’ is coded as ‘3749’, and ‘RACE’ is coded as ‘4762’

P=3
A=7
R=4
K=9
R=4
A=7
C=6
E=2
Similarly,

Code for the word CARE:

C=6
A=7
R=4
E=2

Hence, Option 4 is the correct answer.

Question 33:
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Select the most appropriate meaning of the given idiom. A long shot

Difficulty : Moderate Average Time: 52 Seconds

Options :
1. A correct prediction

2. A perfect aim
3. Very profitable
4. Little chance of success
Solution :
The correct answer is option 4 i.e. Little chance of success.
Idioms: A group of words established by usage as having a meaning not deducible from those of the individual words.
"A long shot" means something that is not likely to succeed.
Example: The deal was a long shot, but Bagley had little to lose.

Question 34 :
In December 2020, became the first country in the world to approve the sale of lab-grown chicken products.

Difficulty : Moderate Average Time: 50 Seconds

Options :
1. Singapore

2. Taiwan

3. Vietnam

4. Japan
Solution :
The correct answer is option 1i.e. Singapore.
Other Information-

e In December 2020, Singapore became the first country in the world to approve the sale of laboratory-grown
chicken products.

e Singapore has allowed a US-based start-up to sell laboratory-produced chicken meat in the country.

e Meat is made in laboratories from animal tissues.
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Its cost of production is high as compared to the actual meat.

Question 35 :
Which of the following Amendments of the Constitution of India gave the status of state to Goa?

Difficulty : Moderate Average Time: 51 Seconds

Options :
1. 52nd Amendment

2. 56th Amendment
3. 59th Amendment
4. 48th Amendment
Solution :
The correct answer is option 2 i.e. 56th Amendment.

e The 56th Amendment to the Constitution of India gave statehood to Goa.

e The Indian Army invaded here on December 19, 1961, liberated this area and Goa joined India.

e |ts sub-regions Daman and Diu and Goa were included in the Constitution of India as a federal territory.
e Goa became the 25th state of India.

Question 36 :
Who among the following female wrestlers won the Ukraine Wrestling Tournament in February 20217

Difficulty : Moderate Average Time: 48 Seconds

Options :
1. Kavita Devi

2. Sakshi Malik

3. Babita Kumari

4. Vinesh Phogat
Solution :
The correct answer is option 4 i.e. Vinesh Phogat.
Other Information-

e Female wrestler Vinesh Pogat won the Ukraine wrestling tournament in February 2021.
e She became the first Indian female wrestler to win two medals at the World Wrestling Championships by defeating
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Emma Joanna Malmgren of Sweden in the 53kg bronze medal bout.

¢ Vinesh also won a bronze medal in Nur-Sultan (Kazakhstan) in the 2019 season.

e World Wrestling Championship 2022 was held in Belgrade, Serbia in which 30 Indian wrestlers took part. The
competition was held from 10 September to 18 September.

e Apart from Olympic medalists Bajrang Punia and Ravi Kumar Dahiya, three-time Commonwealth Games gold
medalist Vinesh Phogat was also present where Bajrang Punia and Vinesh Phogat gave India a medal.

Question 37 :
What is the emigration of a significant proportion of a country’s highly skilled, highly educated professional population to
other countries offering better economic and social opportunities called?

Difficulty : Moderate Average Time: 68 Seconds

Options :
1. Carrying capacity

2. Brain drain
3. Demographic transition
4. Closed population
Solution :
The correct answer is option 2 i.e. Brain drain.

e Brain Drain is defined as the emigration or migration of individuals with talents and skills from developing or under-
developed countries to developed ones.

e A brain drain can result from turmoil within a nation, the existence of favorable professional opportunities in other
countries, or a desire to seek a higher standard of living.

e |t causes countries, industries, and organizations to lose a core portion of valuable individuals.

Question 38:
Which of the following laws deduces the expression for the force between two stationary point charges in vacuum or free

space?
Difficulty : Moderate Average Time: 54 Seconds

Options :
1. Lenz's Law

2. Coulomb’s Law

3. Gauss's Law
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Ohm’s Law

Solution :
The correct answer is option 2 i.e. Coulomb’s Law.

Other Information-

e Coulomb's law deduces the expression for the force between two stationary point charges in a vacuum or free
space.

¢ It was propounded by a French scientist named Coulomb in the 1780s. This law served as the basis for the
development of the theory of electromagnetism.

e According to this law, "the electrostatic force between two point charges is proportional to the product of the two
charges and inversely proportional to the square of the distance between those charges."

e Coulomb's law is true only for point charges.

o This rule is also not true for distances less than 10" meters, because this force becomes unsuitable due to the
predominance of nuclear force at distances less than 10™ meters.

Question 39 :
What is the repo rate given by the Reserve Bank of India’s (RBI) Monetary Policy Committee (MPC) as on 7 April 20217

Difficulty : Moderate Average Time: 74 Seconds

Options :
1. 2%

2. 4%

3. 3%

4. 5%
Solution :
The correct answer is option 2 i.e. 4%.
Other Information -

e The repo rate as given by the Monetary Policy Committee (MPC) of the Reserve Bank of India (RBI) on 7 April 2021
is 4%.

e MPC decided to increase the policy repo rate by 50 basis points to 5.40 percent.

e The MPC sets the base or reference rate used to determine the benchmark interest rate or other interest rates in
India.

e Monetary policy refers to the policy of the central bank regarding the use of monetary instruments under its control
to achieve the goals specified in the Act.
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The primary objective of RBI's monetary policy is to maintain price stability while keeping growth in mind.
e The amended RBI Act, 1934 also provides for the inflation target (4% + -2%) to be fixed by the Government of India
in consultation with the Reserve Bank once every five years.

Question 40 :
From which of the following English words is the name ‘Bhangra’ derived in the context of the Bhangra Dance?

Difficulty : Moderate Average Time: 71 Seconds

Options :
1. Hemp

2. Rhythm
3. Style
4. Movement
Solution :
The correct answer is option 2 i.e. Rhythm.
Other Information-
1. The name 'Bhangra’ is derived from the English word Rhythm in the context of Bhangra dance.
2. Rhythm means taal.
3. Bhangra is a vibrant folk music and folk dance originating from Punjab.

4. People traditionally perform Bhangra while performing the harvest rituals during Baisakhi. During Bhangra, people sing
songs in Punjabi dialect and a person in a circle of people wearing lungi and turban plays the dhol.

Question 41 :
Which of the following dwarf planets lies in the main asteroid belt?

Difficulty : Moderate Average Time: 53 Seconds

Options :
1. Eris

2. Makemake

3. Ceres
4. Haumea
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Solution :
The correct answer is option 3 i.e. Ceres.

Other Information -

Ceres is a dwarf planet in the asteroid belt.

About half the mass of Pete is contained in the four largest asteroids: Ceres, Vesta, Pallas and Hygiene.
The total mass of the asteroid belt is about 4% that of the Moon.

The diameter of Ceres is about 950 km.

Between Mars and Jupiter are parts of the broken planets and this is called the asteroid belt.

Question 42 :
is concerned with constructing records of past climates and climatic events by analysis of tree growth
characteristics, especially growth rings.

Difficulty : Moder ate Average Time: 56 Seconds

Options :
1. Bioclimatology

2. Historical- climatology
3. Geo climatology
4. Dendroclimatology
Solution :
The correct answer is option 1 i.e. Bioclimatology

e Bioclimatology is the study of the relationship between climate and living organisms. The field is vast and
brings together scientists from many disciplines. Bioclimatology is frequently subdivided into human, animal,
agricultural, and forest bioclimatology.

Question 43 :
Which of the following revolutionaries was arrested by the British as an accused in the Alipore Bomb Conspiracy Case?

Difficulty : Moderate Average Time: 44 Seconds

Options :
1. Kanailal Dutta

2. Rajendra Lahiri

3. Roshan Singh
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Ashfaq Ullah Khan

Solution :
The correct answer is option 1 i.e. Kanailal Dutt.

Other Information-

e Kanailal Dutt was arrested by the British as an accused in the Alipore bomb conspiracy case.

e The Alipore Bomb Case (or, the Muraripukur Conspiracy, or the Maniktola Bomb Case) was launched by the British
government in 1908.

e Narendra Nath Gosai was also caught in the Alipore bomb case. He could not bear the torture of the police and
became an informer. With the help of that, the police were successful in apprehending such a large number of
revolutionary youth. Kanailal Dutt was also caught in the same case and was kept in Alipore Jail.

Question 44 :
What was the first name of the Mughal Emperor Babur?

Difficulty : Moderate Average Time: 60 Seconds

Options :
1. Hasanuddin

2. Giasuddin

3. Zahiruddin

4. Qaseemuddin
Solution :
The correct answer is option 3 i.e. Zahiruddin.
Other Information-

e The first name of Mughal Emperor Babur was Zahiruddin.

e Babur was a descendant of Timur on his father's side and Genghis Khan on his mother's side.

e The Mughal emperor Babur came from the Barla tribe of Mongol origin, but different members of the tribe
considered themselves Turks because of their language, customs and long-lived in Turkish areas.

e The new empire was established by Babur. He was of "Chagatai ancestry" of the Turkish race. Which was named
after the second son of Genghis Khan. Babur's mother tongue was Chagatai.

e The victory in the battle of Panipat was the first victory of the Mughal emperor. With this victory, he demonstrated
the power of the Mughal Empire in India. And this was also the biggest victory of the Mughals in Indian history.

Question 45 ;
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In which year had India's ratio of public debt to GDP gone up to a record 84.2%?

Difficulty : Moderate Average Time: 73 Seconds

Options :
1. 1991

2. 1999
3. 2003

4. 2001

Solution :
The correct answer is option 3 i.e. 2003.

Other Information-

In 2003, India's public debt-to-GDP ratio reached a record 84.2%.

The public debt-to-GDP ratio is the ratio of a country's debt to GDP. This ratio is used to measure the debt
repayment capacity of a country.

Simply put, the debt-GDP ratio compares a country's public debt to its annual economic output.

By comparing the debt taken by any country with its production, this ratio indicates the ability of that country to pay
its debt.

Question 46 :
Who among the following is the author of the novel ‘Q and A’?
Difficulty : Moderate Average Time: 56 Seconds

Options :
1. Muchkund Dubey

2. MK Rasgotra

3. JN Dixit

4. Vikas Swarup
Solution :
The correct answer is option 4 i.e. Vikas Swarup.
Other Information-

e Vikas Swarup is the author of the novel 'Q&A".
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Vikas Swarup's first novel 'Q&A' became the best-selling novel in the world.
e The novel 'Q&A' has been translated into 43 languages.
e Oscar-winning Hollywood film 'Slumdog Millionaire' is based on this novel.

Question 47 :
Who among the following became the first Indian to win the Miss Deaf World title?

Difficulty : Moderate Average Time: 52 Seconds

Options :
1. Raghavi Shankar

2. Vidisha Baliyan

3. Arunima Sinha

4. Preethi Srinivasan
Solution :
The correct answer is option 2 i.e. Vidisha Baliyan.
Other Information-

¢ Vidisha Baliyan has become the first Indian to win the Deaf World title.

¢ Vidisha Balyan belongs to the Muzaffarnagar district of UP and created history by winning the title.

e Deaf World is an international beauty pageant that presents young deaf women "Miss Deaf World" and young
deaf men "Mr. Deaf World" each year, usually in Prague, Czech Republic.

e The first Vice Miss Deaf World 2010 was won by Miss Julie Abbo of France.

Question 48 :
An amendment to the Hindu Succession Act, 1956 was passed in the year

Difficulty : Moderate Average Time: 59 Seconds

Options :
1. 2012

2. 2005
3. 2010

4. 2008

Solution :
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The correct answer is option 2 i.e. 2005.
Other Information-

e The amendment to the Hindu Succession Act, 1956 was passed in the year 2005.

e The Hindu Succession Act was made for Hindus, Jains, Buddhists, Sikhs and members of Arya Samaj.

¢ In the context of its implementation, there is a provision as per section 2 of the Hindu Marriage Act 1955.

e The Hindu Succession Act 1956, like the Hindu Marriage Act 1955, begins with its extension and commencement.

Question 49 :
As per the Economic Survey, 2020, how many banks in India are there in the list of the top global 100?

Difficulty : Moderate Average Time: 52 Seconds

Options :
1. None

2. One
3. Three
4, Two
Solution :
The correct answer is option 2 i.e. One.

Other Information-

According to the Economic Survey, 2020, one bank from India is in the list of the top global 100.

The 'Economic Survey of India’ is an annual document released by the Ministry of Finance.

It is considered to be the authoritative and updated source of data related to the Indian economy.

The Indian economy is projected to grow at 9.3 percent (preliminary advance estimates) in 2021-22 after
decelerating by 7.3 percent in 2020-21.

This estimate related to the year 2022-23 is in line with the 'World Bank' and '‘Asian Development Bank' with the
potential for GDP growth of 8.7 and 7.5 percent respectively.

Question 50 :
Which of the following statements is/are correct? |- Karnataka is the largest producer of coffee in India. II- Arabica is a
variety of coffee. Ill- The Arabica variety initially brought from Mexico is produced in India.

Difficulty : Moderate Average Time: 69 Seconds
Options :
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[, I'and 1l

2. Only Il and 1l

3. Only Il

4. Only I and Il
Solution :
The correct answer is option 4 i.e. Only | and II.
1. 71% of India's coffee is produced in Karnataka.
2. The largest coffee-producing region of Karnataka is Kodagu (Coorg) district.
3. Two types of coffee are produced by Karnataka namely Coffee Arabica and coffee Robusta.
4. Arabica is a variety of coffee.
5. Arabica form of coffee was initially delivered to India from Yemen and was initially produced within the Baba Budan hills.

Question 51 :
In which city of Gujarat will you find the Uparkot Buddhist Caves?

Difficulty : Moderate Average Time: 52 Seconds

Options :
1. Bhavnagar

2. Vadodara

3. Junagadh

4. Anand
Solution :
The correct answer is option 3i.e. Junagadh.
Other Information-

e The Uparkot Buddhist caves have been found in the city of Junagadh in Gujarat.

e 26 Buddhist caves belonging to the Mahayana sect of Buddhism have been discovered, dating back to the 2nd
and 5th centuries AD, 24 inscriptions in the Brahmi script, and two Shaiva monasteries.

e The caves and some of their remains had 'chaitya’ (dome) doors and stone beds typical of Mahayana Buddhist
sites.

e These caves are 2.5 km from Junagadh railway station. There are also two other Buddhist caves, Khapra Kodia and
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e These caves are a unique specimen of Satavahana and Greco-Cyrenic Mixed architecture.

Question 52 :
Camellia sinensis is a plant that produces

Difficulty : Moderate Average Time: 62 Seconds

Options :

1.

2.

tea

coffee

3. jute

4.

sugarcane

Solution :
The correct answer is option 1 i.e. tea.

Other Information-

Camellia sinensis is a plant that produces tea.

This plant originated in Asia. Therefore, it is the basis of Asian medicine. It is a plant that is found in the form of a
small tree or shrub.

The plant has two varieties. The first is Camellia sinensis sinensis, which is a Chinese tea that comes from China if
we grow it in cooler temperatures and at higher altitudes. This variety is usually grown on the slopes of the
mountains.

The second variety is Camellia sinensis asmica. This is what is known as Indian tea. It originates from the Assam
region in North India.

A plant that is found in the form of a small tree or shrub.

Question 53 :
Select the option that can be used as a one-word substitute for the given group of words. A fictional being from another
world
Difficulty : Moderate Average Time: 69 Seconds
Options :

1. Stranger

2. Native
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Alien
4. Foreigner
Solution :
The correct answer is option 3 i.e. Alien.

One Word Substitution means using a specific word to replace a wordy phrase or sentence and making it shorter, concise,
and clearer to understand.

A fictional being from another world is known as an alien.

A person whom one does not know or with whom one is not familiar is known as a stranger.

A person born in a specified place or associated with a place by birth is known as a native of that place.
A person born in or coming from a country other than one's own is known as a foreigner.

Question 54 :
Select the option that can be used as a one-word substitute for the given group of words. Showing great attention to detail
and correct behaviour

Difficulty : Moderate Average Time: 62 Seconds

Options :
1. Punctual

2. Zealous
3. Punctilious
4. Disciplined
Solution :
The correct answer is option 3 i.e. Punctilious.

One Word Substitution means using a specific word to replace a wordy phrase or sentence and making it shorter, concise,
and clearer to understand.

Showing great attention to detail and correct behaviour is known as punctilious.
Punctual is happening or doing something at the agreed or proper time.
Zealous is enthusiastic and eager.

Disciplined is showing a controlled form of behaviour or way of working.
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Question 55 ;
Select the option that expresses the given sentence in passive voice. He opened the door for his mother.

Difficulty : Moderate Average Time: 52 Seconds

Options :
1. The door was opened by him for his mother.

2. The door was open by him for his mother.
3. The door had been opened by him for his mother.
4. The door is opened by him for his mother.
Solution :
The correct answer is option 1 i.e. The door was opened by him for his mother.
Given sentence: He opened the door for his mother. (Active voice)
Structure of active voice: Subject + V2 + Object
Structure of passive voice: Objective case of subject + was/were + V3 + Subjective case of object
Sentence in passive voice: The door was opened by him for his mother.

Question 56 :

FREE
PDF

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a
meaningful and coherent paragraph. A. The interest rates offered depends on the bank, deposit amount, and the tenure
you choose. B. It not only helps you to save money but also helps you to earn a substantial interest on it. C. One of the
best ways to secure your money is by investing in fixed deposits. D. Under the fixed deposit scheme, the depositor

deposits the money only once at the time of opening the account.

Difficulty : Moderate Average Time: 78 Seconds

Options :
1. CDBA

2. ADCB
3. ACBD
4. CABD

Solution :
The correct answer is option 1 i.e. CDBA.

Page No: 41

Follow us on Address :1997, Mukherjee Nagar, 110009 Download the App

Email : online@kdcampus.org | GETITON
f < o
- Call : +91 95551 08888 P Google Play



https://study.kdcampus.live/question-answer/-14325
https://study.kdcampus.live/

STUDY CONTENTS THAT GET YOU SELECTED FREE

N
L ' VE @ 5LAKH+ STUDENTS %, 30+ EXPERT INSTRUCTORS 10000+ HOURS OF VIDEOS
- Already enrolled with our ;‘{ Our instructors are the best -‘ All videos are well-explained for you P D F

selection focused courses. In the industry to get every bit out of the videos

The given question is an example of para jumbles.

Sentence C will be the introductory line as it is an independent sentence.

Sentence D further gives more information about fixed deposits.

Sentence B will be following sentence D as it tells about the benefits of fixed deposits.

Sentence A will be the last sentence as it concludes the para.

The correct sequence is:

C. One of the best ways to secure your money is by investing in fixed deposits.

D. Under the fixed deposit scheme, the depositor deposits the money only once at the time of opening the account.
B. It not only helps you to save money but also helps you to earn a substantial interest on it.

A. The interest rates offered depends on the bank, deposit amount, and the tenure you choose.

Question 57 :
Select the most appropriate meaning of the given idiom. On the wane

Difficulty : Moderate Average Time: 72 Seconds

Options :
1. On the way

2. Onthe top
3. On the decline
4. Ontherise
Solution :
The correct answer is option 3i.e. On the decline.
Idioms: A group of words established by usage as having a meaning not deducible from those of the individual words.
"On the wane" means becoming weaker or less extensive.
Example: Her popularity was on the wane.

Question 58 :
Select the most appropriate ANTONYM of the given word. Prey

Difficulty : Moderate Average Time: 46 Seconds
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Options :
1. Predator

2. Sufferer
3. Loot
4. Game
Solution :
The correct answer is option 1 i.e. Predator.
Antonym: a word opposite in meaning to another.
Prey means to hunt and kill for food.
Predator is the correct antonym that means an animal that naturally preys on others.
Meaning of other words:
Sufferer: a person who is affected by an illness or ailment.
Loot: private property taken from an enemy in war.
Game: an activity that one engages in for amusement or fun.

Question 59 :
Select the INCORRECTLY spelled word.

Difficulty : Moderate Average Time: 52 Seconds

Options :
1. Whitan

2. Enlighten

3. Hasten

4. Brighten
Solution :
The correct answer is option 1 i.e. Whitan.
The incorrectly spelled word is "Whitan".

Correctly spelled word: Whiten
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Meaning: make or become white.
Example: His hair whitened as he aged.

Question 60 :
The following sentence has been split into four segments. Identify the segment that contains a grammatical error. This is /

too grave sin / to be / pardoned.

Difficulty : Moderate Average Time: 43 Seconds

Options :
1. pardoned

2. too grave sin
3. Thisis
4. to be
Solution :
The correct answer is option 2 i.e. too grave sin.
Given sentence: This is / too grave sin / to be / pardoned.
As 'sin' is a noun, so, the article 'a’ should be used before it.

Correct sentence: This is / too grave a sin / to be / pardoned.

Question 61 :

Select the correct active voice of the given sentence. The poems of great English poets are being translated into other
languages.

Difficulty : Moderate Average Time: 46 Seconds

Options :

1. They were translating the poems of great English poets into other languages.
2. They are translating the poems of great English poets into other languages.
3. They have translated the poems of great English poets into other languages.

4. They translated the poems of great English poets into other languages.

Solution :
The correct answer is option 2 i.e. They are translating the poems of great English poets into other languages.
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Given sentence: The poems of great English poets are being translated into other languages. (Passive voice)
Structure of passive voice: Objective case of subject + is/am/are + being + V3 + by + Subjective case of subject
Structure of active voice: Subject + is/am/are + V1 + ing + Object

Sentence in active voice: They are translating the poems of great English poets into other languages.

Question 62 :

The following sentence has been divided into parts. One of them may contain a grammatical error. Select the part that
contains the error from the given options. If you don’t find any error, mark ‘No error’ as your answer. Antique diamond
necklace / was stolen / from the museum.

Difficulty : Moderate Average Time: 74 Seconds

Options :
1. was stolen

2. from the museum

3. Antique diamond necklace

4. No error
Solution :
The correct answer is option 3i.e. Antique diamond necklace.
Given sentence: Antique diamond necklace / was stolen / from the museum.
'‘Antique diamond necklace' should be replaced by 'An antique diamond necklace'.
Correct sentence: An antique diamond necklace / was stolen / from the museum.

Question 63 :
Select the most appropriate synonym of the given word. Fluke

Difficulty : Moderate Average Time: 43 Seconds

Options :
1. Policy

2. Plan
3. Chance

4. Contract
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Solution :
The correct answer is option 3 i.e. Chance.

Synonym: Words that have the same or nearly the same meaning.

Given word: Fluke

Meaning: an unlikely chance occurrence, especially a surprising piece of luck.

The word that seems to be its synonym is '‘Chance' as it means the possibility of something happening.
Meaning of other words:

Policy: a course or principle of action adopted or proposed by an organization or individual.

Plan: a detailed proposal for doing or achieving something.

Contract: enter into a formal and legally binding agreement.

Question 64 :

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to
substitute it, select ‘No substitution required’. The investigation revealed that both of they had given false information to
obtain the certificates.

Difficulty : Moderate Average Time: 67 Seconds

Options :
1. No substitution required

2. reveal that them both
3. reveals that how they both
4. revealed that both of them
Solution :
The correct answer is option 4 i.e. revealed that both of them.

Incorrect sentence: The investigation revealed that both of they had given false information to obtain the certificates.

After 'both of* objective case of the pronoun should be used. So, they should be replaced by them.

Correct sentence: The investigation revealed that both of them had given false information to obtain the certificates.

Question 65 :

Page No: 46

Follow us on Address :1997, Mukherjee Nagar, 110009 Download the App

Email : online@kdcampus.org | GETITON
f < o
- Call : +91 95551 08888 P Google Play



https://study.kdcampus.live/question-answer/-14325
https://study.kdcampus.live/

STUDY CONTENTS THAT GET YOU SELECTED FREE

N
L ' VE @ 5LAKH+ STUDENTS %, 30+ EXPERT INSTRUCTORS 10000+ HOURS OF VIDEOS
- Already enrolled with our ;‘{ Our instructors are the best -‘ All videos are well-explained for you P D F

selection focused courses. In the industry to get every bit out of the videos

Select the option that expresses the given sentence in reported speech. She said, “It is too good to be true.”

Difficulty : Moderate Average Time: 56 Seconds

Options :
1. She said it were too good to be true.

2. She said that it was too good to be true.
3. She is saying that it is too good to be true.
4. She says that it is too good to be true.
Solution :
The correct answer is option 2 i.e. She said that it was too good to be true.
Given sentence: She said, “It is too good to be true.”
In indirect speech, we need to remove commas and inverted commas, and the conjunction 'that' is added.
is' is changed to 'was'.
'said’ will not change as the sentence does not have an object.
So, the final sentence is:
She said that it was too good to be true.

Question 66 :
The following sentence has been split into four segments. Identify the segment that contains a grammatical error. She
persisted / to doing / what she wanted / despite opposition.

Difficulty : Moderate Average Time: 65 Seconds

Options :
1. to doing

2. what she wanted
3. She persisted

4. despite opposition

Solution :
The correct answer is option 1i.e. to doing.
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Given sentence: She persisted / to doing / what she wanted / despite opposition.
The word persisted is followed by the preposition in.
Correct sentence: She persisted / in doing / what she wanted / despite opposition.

Question 67 :

The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the
error from the given options. If you don’t find any error, mark ‘No error’ as your answer. The unseasonal rain/ caused a lot
of damage/ to the crops.

Difficulty : Moderate Average Time: 53 Seconds

Options :
1. The unseasonal rain

2. to the crops
3. No error
4. caused a lot of damage
Solution :
The correct answer is option 3i.e. No error.
Given sentence: The unseasonal rain/ caused a lot of damage/ to the crops.
The given sentence is correct contextually and grammatically. Hence, no changes are needed.

Question 68 :
Select the most appropriate ANTONYM of the given word. Optional

Difficulty : Moderate Average Time: 41 Seconds

Options :
1. Voluntary

2. Compulsory
3. Arbitrary

4. Elective

Solution :
The correct answer is option 2 i.e. Compulsory.
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Antonym: a word opposite in meaning to another.

Optional means available to be chosen but not obligatory.

Compulsory is the correct antonym that means required by law or a rule; obligatory.
Meaning of other words:

Voluntary: working, done, or maintained without payment.

Arbitrary: based on random choice or personal whim, rather than any reason or system.
Elective: an optional course of study.

Question 69 :
Select the option that will improve the underlined part of the given sentence. In case no improvement is needed, select 'No
improvement required'. | have been wondering at taking skating as a hobby.

Difficulty : Moderate Average Time: 59 Seconds

Options :
1. on taking to

2. about taking up
3. to take up
4. No improvement required
Solution :
The correct answer is option 2 i.e. about taking up.
Incorrect sentence: | have been wondering at taking skating as a hobby.
The phrasal verb wandering about should be used.
Correct sentence: | have been wondering about taking skating as a hobby.

Question 70 :
Select the most appropriate synonym of the given word. Inscrutable

Difficulty : Moderate Average Time: 45 Seconds
Options :
1. Incredible
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Indelible

3. Inevitable

4. Inexplicable
Solution :
The correct answer is option 4 i.e. Inexplicable.
Synonym: Words that have the same or nearly the same meaning.
Given word: Inscrutable
Meaning: impossible to understand or interpret.
The word that seems to be its synonym is ‘Inexplicable’ as it means unable to be explained or accounted for.
Meaning of other words:
Incredible: impossible to believe.
Indelible: making marks that cannot be removed.
Inevitable: certain to happen; unavoidable.

Comprehension :
Directions: In the following passage, some words have been deleted. Read the passage carefully and select the most

appropriate option to fill in each blank. Marie was born in 1867 in Warsaw, Poland. At an (1) age, she
displayed a brilliant mind and a (2) personality. Her great exuberance for learning (3) her to
study further. However, she became (4) when she learned that the university was closed (5)

women. Determined to receive a higher education, she joined a French university.

Question 71 :
Select the most appropriate option to fill in blank no. 1.

Difficulty : Moderate Average Time: 74 Seconds

Options :
1. early

2. ignorant
3. infant

4. young

Solution :
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The correct answer isoption 1i.e. early.
The passage talks about Marie. The word that fits blank 1 is 'early’ which means when young.

Comprehension :
Directions: In the following passage, some words have been deleted. Read the passage carefully and select the most

appropriate option to fill in each blank. Marie was born in 1867 in Warsaw, Poland. At an (1) age, she
displayed a brilliant mind and a (2) personality. Her great exuberance for learning (3) her to
study further. However, she became (4) when she learned that the university was closed (5)

women. Determined to receive a higher education, she joined a French university.

Question 72 :
Select the most appropriate option to fill in blank no. 2.

Difficulty : Moderate Average Time: 56 Seconds

Options :
1. bruised

2. blithe
3. brutal
4. bloateda
Solution :
The correct answer is option 2 i.e. blithe.
The passage talks about Marie. The word that fits blank 2 is 'blithe’ which means happy or carefree behavior.

Comprehension :
Directions: In the following passage, some words have been deleted. Read the passage carefully and select the most

appropriate option to fill in each blank. Marie was born in 1867 in Warsaw, Poland. At an (1) age, she
displayed a brilliant mind and a (2) personality. Her great exuberance for learning (3) her to
study further. However, she became (4) when she learned that the university was closed (5)

women. Determined to receive a higher education, she joined a French university.

Question 73 :
Select the most appropriate option to fill in blank no. 3.

Difficulty : Moderate Average Time: 57 Seconds
Options :
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prompted
2. promised
3. proposed
4. projected
Solution :
The correct answer is option 1 i.e. prompted.

The passage talks about Marie. The phrase exuberance for learning means to describe joyful enthusiasm and liveliness.
Hence, the word that fits blank 3 is 'prompted’ which means to encourage to say or do something.

Comprehension :
Directions: In the following passage, some words have been deleted. Read the passage carefully and select the most

appropriate option to fill in each blank. Marie was born in 1867 in Warsaw, Poland. At an (1) age, she
displayed a brilliant mind and a (2) personality. Her great exuberance for learning (3) her to
study further. However, she became (4) when she learned that the university was closed (5)

women. Determined to receive a higher education, she joined a French university.

Question 74 :
Select the most appropriate option to fill in blank no. 4.

Difficulty : Moderate Average Time: 61 Seconds

Options :
1. distinguished

2. dishevelled
3. disgruntled
4. disfigured
Solution :
The correct answer is option 3 i.e. disgruntled.
The passage talks about Marie. The word that fits blank 4 is 'disgruntled' which means angry or dissatisfied.

Comprehension :
Directions: In the following passage, some words have been deleted. Read the passage carefully and select the most

appropriate option to fill in each blank. Marie was born in 1867 in Warsaw, Poland. At an (1) age, she
displayed a brilliant mind and a (2) personality. Her great exuberance for learning (3) her to
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study further. However, she became (4) when she learned that the university was closed (5)
women. Determined to receive a higher education, she joined a French university.

Question 75:
Select the most appropriate option to fill in blank no. 5.

Difficulty : Moderate Average Time: 56 Seconds

Options :
1. at

2. from
3. to
4. by
Solution :
The correct answer is option 3 i.e. to.
The passage talks about Marie. The word that fits blank 5 is 'to' which means so as to be closed or nearly closed.

Question 76 :

The given histogram represents the marks of students in Mathematics test of a certain class. The total number of students
is 350 and the maximum marks of the test are 200. Study the graph and answer the question that follows. What is the
class average (correct up to one place of decimal) of mathematics test?

Difficulty : Moderate Average Time: 48 Seconds

Options :
1. 119.3

2. 123.7

3. 115.8

4. 127.3
Solution :
The correct answer is option 1i.e. 119.3
given, total numbers of students = 350

total value of marks = 300+900+2240+4050+6600+9750+8250+6800+2850 = 41740
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S0, required average = 41740/ 350
= 119.257
=119.3

Question 77 :
In a quadrilateral ABCD, the bisector of C and D meet at point E. If CED = 570 and A = 470, then the measure of B is:

Difficulty : Moderate Average Time: 42 Seconds

Options :
1. 47°

(o}

2. 67

(o}

3. 77

(o}

4. 57
Solution :
The correct answer is option 2 i.e. 67°
In Quadrilateral ABCD,
A+B+C+D = 360
now, triangle CED
CDE +ECD +CED =180
(C+D)/2 + CED =180
(C+D)/2 + 57 = 180
(C+D)/2 =123
C+D =246
then, A+B + 246 = 360
47+B+246 = 360

B = 360-293 = 67

Question 78 :
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The value of 40 (div) of 2 (imes[18 div 6 imes (12 - 9) ) of 5 - (3-8)] (div) 25 is:

Difficulty : Moderate Average Time: 56 Seconds

Options :
1.5

Solution :
The correct answer is option 3i.e. 8

Explanation:

From the given question,
40+50f2x[18+6 x(12-9) of 5-(3-8)] + 25
40+50f2x[18+6x 15+ 5]+ 25

40 + 5 of 2 x 50+ 25

40 +10 x 50 + 25

4x2=8

Hence the value of 40 + 50f 2 x [18 + 6 x (12 - 9) of 5 - (3-8)] + 25 is 8.

Question 79 :
A can complete 25% of a work in 15 days. He works for 15 days and then B alone finishes the remaining work in 30 days.
In how many days will A and B working together finish 50% of the same work?

Difficulty : Moderate Average Time: 69 Seconds

Options :
1. 24

2. 20
3. 12

4. 25
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Solution :
The correct answer is option 3i.e 12

According to the question,

25% of a work Completed by A = 15 days

So, Total work completed by A =100 x15/ 25 = 60 days

and Remaining work done by B= 30 days

So, total work done by B = 100x30 / 75 = 40 days

then Total work = 120

Now, Efficiency of =120/6 =2

And Efficiency of B =120/40 =3

Then 50%. Total work done by (A+B) = 50%. Of 120/(2+3)=60/5
=12 days.

Question 80 :
A and B start a business. A invests (33rac{1}{3}) % of the total capital and B invests the remaining. If the total profit at the
end of a year is 4,11,62,000, then B's share (in Rs.) is:

Difficulty : Moderate Average Time: 58 Seconds

Options :
1. 108000

2. 112000
3. 120000
4. 54000
Solution :
The correct answer is option 1 i.e. 108000
Explanation:
Let total capital be 300
Now, according to the question-

A invests = 300 x \(1 \over 3\)= 100
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and B = 300-100 = 200
so,A:B=100:200=1:2

For total profit,

3 unit = 162000

lunit = 54000

S0, B's share = 54000 x 2 = 108000
Hence B's share is Rs 1,08,000.

Question 81 :
A shopkeeper marks his goods at a price 20% higher than the cost price and allows 10% discount on every item. Find his
gain percentage.

Difficulty : Moderate Average Time: 50 Seconds

Options :
1. 10%

2. 10.5%
3. 9%
4. 8%
Solution :
The correct answer is option 4 i.e. 8%
let CP of goods =100
according to the question,
now MP = 100 + 100 x 20% = 120
and SP =120 - 120 x 10% = 108
S0, required gain % = 108-100 = 8

Question 82 :
The following bar graph shows the number of youth (in lakhs) and the number of employed youth (in lakhs) in five states A,
B, C, D and E. In which state(s) is the number of youth more than the average number of youth in the five states?

Difficulty : Moderate Average Time: 47 Seconds
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Options :
1. A

2. A C
3. A/C,D,E
4. A,C,D
Solution :
The correct answer is option 2 i.e. A, C
average of youth in the five states = (12+8+11.5+10+9) /5
50.5/5=10.1
S0, required states = A,C

Question 83 :
Six bells commence tolling together and toll at intervals of 2, 4, 6, 8, 10 and 12 seconds respectively. after how many
seconds, will they toll together again?

Difficulty : Moderate Average Time: 40 Seconds

Options :
1. 167

2. 168
3. 176
4. 186
Solution :
The correct answer is option 2 i.e. 168

Question 84 :

The angle of elevation of the top of a tall building from the points M and N at the distances of 72 m and 128 m,
respectively, from the base of the building and in the same straight line with it, are complementary. The height of the
building (in m) is:

Difficulty : Moderate Average Time: 39 Seconds
Options :
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84

2. 96

3. 80

4. 90
Solution :
The correct answer is option 2 i.e. 96
Let AB = x meter ( height of building)
Now, In \(\triangle\)AMB
tan = AB/AM
tan = X/72
Again, In \(\triangle\)ANB
tan(90-) = AB/AN (\(\angle\)ANB and \(\angle\)AMB are complementary angles)
cot = x/128
tan = 128/x
So, x/72 = 128/x
x° =128 x72
X’ = 64x144
X =8x12 = 96

Question 85 :
The simple interest on a certain sum is one-eighth of the sum when the number of years is equal to half of the rate
percentage per annum. Find the simple inrerest (in 4,1) on 4, 15,000 at the same rate of simple interest for 8 years.

Difficulty : Moderate Average Time: 63 Seconds
Options :
1. 5800
2. 5000
3. 6000
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5250
Solution :
The correct answer is option 3 i.e. 6000
given,
SI=P/8
and T =R/2
then, SI = PRT/100
P/8 = (PxRxR/2) / 100
R =25
R =5%

now, Sl = (15000x5x8)/ 100

Sl = 150%x40
S1=6000
Question 86 :

What is the average of all the prime numbers between 70 and 90?

Difficulty : Moderate Average Time: 57 Seconds

Options :
1. 80

2. 78.66
3. 79
4. 81.6
Solution :
The correct answer is option 3i.e. 79
Explanation:
In between 70 to 90, all prime numbers = 71,73,79,83,89

Now, required average = \((71+73+79+83+89) \over 5\) = \({395\over 5} = 79\)

Page No: 60

Follow us on Address :1997, Mukherjee Nagar, 110009 Download the App

Email : online@kdcampus.org GETITON
f < o
- Call : +91 95551 08888 o Google Play



https://study.kdcampus.live/question-answer/-14325
https://study.kdcampus.live/

STUDY CONTENTS THAT GET YOU SELECTED FREE

N
L ' VE @ 5LAKH+ STUDENTS %, 30+ EXPERT INSTRUCTORS 10000+ HOURS OF VIDEOS
- Already enrolled with our ;‘{ Our instructors are the best -‘ All videos are wel\—ex‘PIcined for you P D F

selection focused courses. In the industry to get every bit out of the videos

Hence the average of all prime numbers between 70 and 90 is 79.

Question 87 :
In (riangle)ABC , (ngle)A= (88"{circ}). If | is the incentre of the triangle, then the measure of (ngle)BIC is:

Difficulty : Moderate Average Time: 44 Seconds

Options :
1. \(212"\circ})

2. \(134™{\circ}\)
3. \(56"{\circ}\)
4. \(68"\circ}\)
Solution :
The correct answer is option 2 i.e. \(134™{\circ}\)
Given, In \(\triangle\)ABC
\(\angle\)A = 88
So, \(\angle\)BIC = 90 + \(\angle\)A/2 (Because | is Incenter)
90 +88/2
90 + 44 =134.

Question 88 :
Ifa2 + b2 + 49 c2 + 18 = 2 (b - 28c - a) then the value of (a + b - 7¢) is:

Difficulty : Moderate Average Time: 49 Seconds

Options :
1.4

2.3
3.2

4. 1
Solution :
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The correct answer isoption li.e. 4

Question 89 :
Tthe breakup of total number of the employees of a company working in different offices (A to E), in degrees, is given in
the pie chart. Total Number of employees = 2400 In which office is the number of employees 6007

Difficulty : Moderate Average Time: 36 Seconds

Options :
1. E

2. A
3.C
4. D
Solution :
The correct answer is option 4 i.e. D

Question 90 :
The value of 1 + (sqrt{rac{cot heta + cos heta}{cos heta-cos heta}}), if 00 ( heta) 900, is equal to:

Difficulty : Moderate Average Time: 34 Seconds

Options :
1. 1 - sec\(\theta)) + tan \(\theta\)

2. 1-sec\(\theta\) - tan \(\theta\)
3. 1+ sec \(\theta)) - tan \(\theta\)
4. 1 + sec \(\theta\) + tan \(\theta\)
Solution :
The correct answer is option 4 i.e. 1 + sec \(\theta\) + tan \(\theta\)Format

Question 91 :
If the volume of a spherical is equal to that of a cylinder having the same radius, then find the ratio of the radius to the
height of the cylinder.

Difficulty : Moderate Average Time: 59 Seconds

Options :
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Solution :
The correct answer is option 3i.e.3: 4

according to the question.,
413 P=r*h

4/3=hir

r-h=3:4

Question 92 :
The value of ((rac{1-cot heta}{1-tan heta})"2) - 1 when Oo ( heta) 900, is equal to

Difficulty : Moderate Average Time: 40 Seconds

Options :
1. cos? - 1

2. sec? \(theta)) + 1
3. cot? \(\theta)) - 1
4. sin®\(\theta\)- 1
Solution :
The correct answer is option 3 i.e. cot’ \(\theta\) - 1

Question 93:
Sides AB and AC of ( riangle )ABC are produced to points D and E, respectively. The Bisectors CBD and BCE meet at P.
If A =780, then the measure of P is:

Difficulty : Moderate Average Time: 49 Seconds
Options :
1. 51°
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(o}

61

(o}

3. 55

(o}

4. 56
Solution :
The correct answer is option 1 i.e. 51°
Given, In \(\triangle \)ABC
A=78
so,P=(180-A)/2
P=(180-78)/2=102/2
P=51

Question 94 :

A and B started their journeys from X to Y and Y to X, respectively. After crossing each other, A and B completed the
remaining parts of their journeys in (6rac{148}) hours and 8 hours, respectively. If the speed of A is 32 km/h, then the
speed in km/h of B is:

Difficulty : Moderate Average Time: 55 Seconds

Options :
1. 21

2. 28
3. 30
4. 25
Solution :
The correct answer is option 2 i.e. 28
Given:
T,=49 /8 hour
T, =8 hour.
and S; = 32 km/ hour.

Concept Used:
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S,/S, =T2/T1 ... (i)
Explanation:

Using equation (i), we get

32/S, = (8 x 8/49) = 64/49

32/S, = 817

S, =28 km/h

Hence the speed of B is 28 km/h.

Question 95 :

The following bar chart shows the number of students enrolled in two summer Camps A and B from 2014 to 2019. Study
the chart carefully and answer the question that follows. The number of students enrolled in Camp A in 2016 and 2019
together is what percentage of the number of students enrolled in Camp B in 2015 and 2017 together?

Difficulty : Moder ate Average Time: 67 Seconds

Options :
1. 64%

2. 75%
3. 60%
4. 80%
Solution :
The correct answer is option 1 i.e. 64%
The number of students enrolled in cam A in 2016 and 2019 =140 + 180 = 320.
And the number of students enrolled in camp B in 2015 and 2017 = 240 + 260 = 500.
So, Required. Percentage = 320 * 100 / 500 = 64%.

Question 96 :
A cyclic quadrilateral ABCD is drawn in a circle with centre O, A and C are joined to O. If ABC = 2p and ADC = 3p, what is
the measure (in degrees) of the AOC reflex?

Difficulty : Moderate Average Time: 46 Seconds

Options :
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200
2. 245
3. 210
4. 216
Solution :
The correct answer is option 4 i.e. 216
Given,
ABC = 2P
And ADC = 3P
ABC+ ADC =180 (Opposite Angles of Cyclic quadrilateral)
2P + 3P =180
5P =180
P =236
Now, ABC = 72 and ADC =108
Thus, AOC =2 x ABC
AOC=2x72=144
AOC (Reflex) = 360 - 144 = 216

Question 97 :
If 8A5146B is divisible by 88, then what is the value of B - A?

Difficulty : Moder ate

Options :
1.0

Solution :
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The correct answer isoption 3i.e. 1
8A51468 is divisible by 88

S0, it is divisible by 8 and 11 also.

for, divisbility by 8

46B should be divisible by 8

so, can put B = 4 and 464 divisible by 8
then,B=4
(8+5+4+4)-(A+1+6), divisble by 11
21-(A+7)=14- A, divisble by 11
putA=3 14-3=11

so,A=3

now,B-A=4-3=1

Question 98 :
Ifa+b+c=6a2+b2+c2=32anda3 + b3+ c3 =189, then the value of abc - 3 is:

Difficulty : Moderate Average Time: 53 Seconds

Options :
1.2

2. 3
3.1
4. 0
Solution :
The correct answer is option 4i.e. 0
Given,
atb+c=6

a2+b2+02:32
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a®+b®+c®=189

now, from (a+b+c)2 = a’+Db’+c? + 2(ab + bc + ca)

36 =32 + 2(ab + bc + ca)

ab+bc+ca=2

thus, from a3+b3+03—3abc:(a+b+c)[(a2+b2+c2)-(ab+bc+ca)]
189 -3abc=6x32-2

189 - 3abc =6 x 30

3abc=189-180=9

abc =3

So,abc-3=3-3=0

Question 99 :

The cost prices of two articles A and B are in the ratio 4 "1 5. While selling these articles, the shopkeeper gains 10% on
article A and 20% on article B and the difference in their selling prices is 4,1480. The difference in the cost price (in 4,*) of
articles B and A is:

Difficulty : Moderate Average Time: 79 Seconds

Options :
1. 250

2. 300

3. 400

4. 350
Solution :
The correct answer is option 2 i.e. 300.
Given,
The Ratio of Cost Price =4:5
According to the Question -
SP of A =4+4x10% 4.4

and SP of B = 5+5x20% 6
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then,
6 - 4.4 =480
1.6 =480
16 = 4800
1 unit = 300
now ,

Diff. in the cost Price of Article B and A =5 -4 = 1 unit 300 Ans.

Question 100 :
(rac{11} 5}) of a number A is 22% of a number B. The number B is equal to 2.5% of a third number C. If the value of C is
5500, then the sum of 80% of A and 40% of B is:

Difficulty : Moderate Average Time: 62 Seconds

Options :
1. 88

2. 75

3. 48

4. 66
Solution :
The correct answer is option 4 i.e. 66
Given,
\(\frac{11}{ 5}\) A= \(\frac{22}{ 100}\) B
A= \(\frac{2}{20}\) B
\(\frac{AKB}\) = \(\frac{1}{ 10}\) = A:B = 1:10
again,
B=25%ofc

B = \(\frac{2.5K 100}\) c
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\(\frac{BX C}\) =\(\frac{1}{ 40}\) = B:C =1:40

A:B:C=1:10:400

Now, 400 unit = 5500

4 unit = 55

1 unit=\(\frac{55} 4}\)

then, 80% of A + 40% of B = \(\frac{80}{ 100}\) * \(\frac{55} 4}\)
\(\frac{40}{ 100}\) * \(\frac{S550¥ 4}\)
11+55

66 Ans.

Ssc Cqgl Tier | Previous Year Question Paper
Analysis

The analysis of Ssc Cgl Tier | Previous Year Question Paper held on 2022-04-12 in the Afternoon exam is as follows:
1. 100 questions were moderate.
2. The safe score is 140 marks.
3. 25 questions were asked from General Awareness, 25 questions were asked from English Language, 25 questions
were asked from Logical Reasoning and 25 questions were asked from Quantitative Aptitude
4. 13 questions should have been skipped if you were short of time.

Ssc Cgl Tier | Previous Year Question Paper Topic
Wise Weightage

General Awareness

1. Polity - 4
2. Art And Culture - 21

English Language

1. Cloze Test-5
2. Spotting Error - 4
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Parajumbles - 1

4. ldioms - 2

5. One Word Substitution - 2

6. Fillers -1

7. Voice - 2

8. Transformation Of Sentence - 1
9. Sentence Improvement - 2

10. Synonym - 2
11. Antonym - 2
12. Incorrectly Spelt - 1
13. Incorrectly Spelt - 1

Logical Reasoning

Coding Decoding - 3
Analogy - 2
Classification - 1
Seating Arrangement - 1
Blood Relations - 1
Syllogism - 1

Venn Diagrams - 1
Dictionary Based - 1
Figure Based - 4

Matrix - 1

. Series -5

. Mathematical Reasoning - 4

© 0N OA®ODNE

B R e
N PO

Quantitative Aptitude

1. Data Interpretation - 1
2. Number System - 1
3. Logarithm - 23

Ssc Cgl Tier | Previous Year Question Paper Tips
and Tricks
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1. Try to solve Ssc Cgl Tier IAPrevious Year Question Paper without taking any help from the solutions.

2. Ssc Cqgl Tier | Previous Year Question Paper require proper usage of concept so firstly read the question thoroughly
and then use the right concept.

3. In case you're not able to solve the question in less than 30 seconds in the exam then you should skip the question
and move to the next question.

Daily Current Affairs

KD Live is providing Current Affairs on a daily basis for SSC and a Current Affairs Quiz too for the practice.

KD Live Free Offerings
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FREE
Offerings

= AN
KD Live is Offering Every Information and Study Material required for the self study. Please click on the following links for

accessing those.

Study Plan

General Science
General Awareness
General Knowledge
Quantitative Aptitude
Logical Reasoning
English Language
Today In History
Syllabus

Know Your State
Know Your Country
Know Your City
Know Your Leader
Books And Authors
Daily Vocabulary
Daily Editorial
Latest Notifications
Exam Dates

Admit Card

Exam Results
Exam Cutoff

Exam Eligibility
Exam Pattern
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Answer Key
Important Days

Further Guidance on Ssc Cgl Tier | Previous Year Question Paper

For Asking any query on Ssc Cgl Tier | Previous Year Question Paper please mail Send Email or you can fill the form at
KD Live.

About KD Live

KD live has an expertise in providing apt explanations for the Ssc Cgl Tier | Previous Year Question Paper since 2008.
More than 10 lakh aspirants have cleared competitive exams under the guidance of Neetu Mam. Study.kdcampus.live is
providing free information on various topics and for the Ssc Cgl Exam you can refer the following link Click Here however if
you want to practice more questions then please refer the following link Click Here.

About Neetu Mam

Neetu Mam is primarily passionate for the English language and teaching from the last 20 years however for the Ssc Cgl
Tier | Previous Year Question Paper. She has guided her team to provide the best explanation for the question.
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